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Aufgaben-Quickname: 7514

Aufgabe 1
Verdoppele.

a) 16-2 = 32
d) 14 -2 = 28
h) 10 - 2 = 20
Aufgabe 2
Verdoppele.

a) 87,94 -2 =
d) 49,24 -2 =
g) 42,26 - 2 =
i) 12,522 =2
Aufgabe 3
Verdoppele.

a) 332 =66
d)41-2 =82
g) 61 -2 =122
i) 85-2 =170
Aufgabe 4
Verdoppele.

a) 11 -2 =22
d)13-2 =26
¢) 12-2 =24

Viel Erfolg!
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Arbeitsblatt

-2 =238 c)H-2=10
2=6 f) 11-2 =22
2=18 j) 18 -2 =236
b) 42,39 - 2 = 84,78

e) 84,71 -2 = 169,42

h) 49,07 - 2 = 98,14

2=94 ¢) 30 -2 =60
-2=24 f) 88 -2 =176
2-2=184 i)35-2="70
-2=34 c) 152 =30
2=18 f) 16 -2 = 32
2=4 )3:-2=6
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¢) 45,12 -2 = 90,24
£) 15,29 - 2 = 30,58
) 36,89 - 2 = 73,78

i) 182 =36
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